EMANLYDE-—ER

BERNEERE
OAiLEE THM6F8A23H (%) 1385105 Bl 1385205 5]
OA#GFr EEFNEEEREE
ZEA/\ETHER13-4
Oxf& tBEEAMEXGRESEES
ORI LEERHM EXGRMESES BRI
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#%14: _ﬁri‘m t‘lt = 4. Xy xE 3 3
= Fr1E if 25 o A #MEm miEy FEER
20 HERTLE 06-s6-1 N4 R4 3.65m,22~48cm
s (N NE4Y) 693 251.695 0.363 |yea 1530 poy11/30
21 T 06-56-2 R N S fEl{&#t 3.65m,14~44cm
s BEEMNNTY) 767 203.510 0.265 8 HA R - R6/11/30
22 HERTLE 06-s6-3 N4 R4 3.65m,24~50cm
s (N NE4Y) 511 177.244 0.347 |a i snme po11/30
23 BT 06-s6-4 NS R4 3.65m,147~260m
s (N NE4Y) 1,033 163.163 0.158 |a 1500 po/11/30
24 HERTLE 06-s6-5 5 R4 4.00m,14~32cm
s hs5<y 852 201.076 0.236 |ya 15008 Re/11/30
25 HERTLE 06-s6-6 5T R4 4.00m,14~34cm
s hs5<y 671 152.644 0.227 |y 500" pe/11/30
fl{k#t 2.40
26 HERTLE 06-s6-7 DR [Ef& 133.226 - %%:xo.emm
% H#ARR :R6/11/30
27 FEETE AR 06-t1-11 5T Rtk #F 4.00m,13~36cm
ho<y 771 129.898 0.168 |ya 15000 Re/11/30
{4t 2.40m
28 FEETHE AR 06-t3-1 [RFHN |=E 43.305 — [#2E #0602
% H#ARR :R6/11/30
29 FEETE AR 06-t3-2 Ty Rtk #F 3.65m,13~38cm
/Y 478 86.733 0.181 % H HABR - R6/11/30
30 FEETHE AR 06-t3-3 BN R4 3.65m,13~38cm
BEEMNNTY) 545 96.637 0.177 |ign it ianm - Ro/11/30
31 FEETE AR 06-t3-4 BN R4 3.65m,12~38cm
BEEMNNTY) 722 121573 0.168 |in 1 sanm - Ro/11/30
32 FHETFER 06-t3-5 N4 R4 3.65m,12~24cm
NNV 660 96.020 0.145 |a 500 po/11/30
33 EEET ST 06-t3-6 sz i {%#+ 3.65m,24~42cm
NNV 245 72.435 0.296 |a 1500 pe11/30
34 EEET ST 06-t4—1 sz fil{%#+ 3.65m,24~40cm
NNV 452 137.146 0.303 |yea 1580 me 11/30
35 FHHETHFER 06-t4-2 N4 R4 3.65m,13~26cm
NNV 884 121.280 0.137 |a a0 mo/11/30
36 FHHETHFER 06-t4-3 N4 R4 3.65m,13~24cm
NNV 878 125.946 0.143 |a 500 mo/11/30
37 EEET ST 06-t4—4 sz i {%#+ 3.65m,24~46cm
NNV 396 121.795 0.308 |yea 1500 poy11/30
38 FHHETHFER 06-t4-5 N4 R4 3.65m,12~24cm
NNV 844 120.663 0.143 |a 500 po/11/30
{4t 2.40m
39 FEETHE AR 06-t4-6 [RFHL [BiE 49.724 — [# 830,522
% H#ARR :R6/11/30
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